SuMPO

..E PD

JAPAN

VERIFIED
SUMPOBIEIN)LFO43 I\ (SUMPO EPD)

HRISO

ComColor FT1430E Il
ComColor FT1430E I

v Third party verified
Environmental Product Declaration

Confromance with

1SO14025 ’ 1SO14040 ’ 1SO14044

BRAMNFIERASHT

RISO KAGAKU CORPORATION

BEHBES RIEAIEH NEsIE! REEE*hEAMA EPDY1 S
SuMPO-EPD-2602-110-1 2026/2/25 2026/3/23 2031/2/24 BH—SIMEPD
KEFHINESEEAIRARME
BINDZEHLIRIE EPD(IREEHAREI CHoTH. EFHF I LARANPIEE BB EABYET,
1L EPDOBH RS LU B EZRER S B(CIXU T ERRLTLESY,
AN

https://ecoleaf-label.jp/epd/search



ZHBES) SUMPO-EPD-2602-11 SuMPO

Environmental Product Declaration for ComColor FT1430E I| .. E pug
VERIFIED
O EKIBER
> 0I5 L1ER
703 L% SUMPORRIEINISOIS L
TOUSLARL-9-  —BHEREAY AT IIVR S HEEE
FriE#: REATARHEXANMHET-14-8 KANDA SQUARE GATE 4F
J17YA1 b https://ecoleaf-label.jp

> GPI-PCRIEZR

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRZ& R BRI #25
PCREHRES SuMPO-PCR-02001-9-0-0
PCRERE H 2025/10/17
VEI-KRIVEER (FTE) WWE B (RASHLCATFAN-tZY5-)
PCRE ZNHARR 2030/10/16
PCR¥{TH —MEAEREAT AT F IR E HEE AR
> IREEEER
ISO14025( ¢ >7= 88 = E R AL
) . O KWEB m A
RAL DR REAEEICLD 0 IREEHEEE(C LD - EPDY AT LERE
= HIRIE = HIRIL ([C&BE=FWRIT

Wi EREE FIE) #g/R 3 F(Value Frontiertk X &4t)

> ZEYLIRE
B [SO14040:2006 B 1SO14044:2006 [J 1SO14067:2018
REHLARAE B 1SO14025:2006 L] 1S021930:2007 L] 1S021930:2017
(] EN15804+A2 [J  EN50693:2019 [J ISO/IEC63366:2025

EPDICEEHDIER R VEPDICE HOIBRICAET ZREFRICOVTOE(EFEPDESEEENFEET, EPDOARICEAT RS, HEREHECDOWV
TIL. EPDEVSEBEHZZTEMWEHELEIL,

EPDDLLE(S, HROEEEE D (CEBLE L TEBINZINEESBVESD, BROTI TV 24EEEL. AEOREERELEYTUAZEA
LTWBRERHYET, EPDOLLEDIRICE BINELXMFRAESHMERTEPCRESBLTLESL,

EPDAE E BAIICE IV TWRIHE, LhESHEE E LB Y TIThNRINIEEYE A,

RIBFETHEEREHE TR NBRETT , BEOAISLIWREAOFEEZ—BICHERITONIEOTESYE A, £ EELEHERIRE
NOEFNLGFEDAZSPEESME BMELBBLTVANE) | UAVFHME CGREPABICCNETOREZREFINE) 2EERIEOTEHVEE
Ao

MEFHERAVCEEDSZSE. F1ITMINVEETFMER R TVAIINAYRY NS EEBR. REYREEER. HAH70-CEIT3REER
F FEOHGBZIOVTOBFRTIEHYE A,

@EPDENSEEEBIR
BEEL -HEA BEMNZTEKRASHE (RISO KAGAKU CORPORATION)
EFR FBEXKEHZEME2T B8E1 BERRTYI-
FLWEDhEE 0120-534-881

LCAEEXEE (FT/E) B (RREESHHER)
BEOERE : @RIV IITYNTIVI-ANTAR TIFIENRIEED Y TSI DN~ R R UEE

SRS 28 SR OB B IR


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

H$%%S) SUMPO-EPD-2602-11 SuMPO

AAAAA

Environmental Product Declaration for ComColor FT1430E Il '. E p D

VERIFIED

O HmIFH
HmBTR ComColor FT1430E Il
C R TOLtEY FT1430E Il
SGEE  162kg BERK  LELL

HmEE  EBRARRVIIIVETUVE-

BAEER wooms  ARERBEOA AL EEBENEIA N CHRTE
Bifrieee -
FH 54
—— ERIRNF-ZY-TOTILDTECHESRE (BBRIRNF-RT-TOTILHE Bkt
PR ERZE ERMA (2020F68 1B H%) 51EKE2-3 EBRIRNFY-AT-TOIILDOFREFZDAE

EAE (BiRERR) (6D,
FHERELLRI BEIRAH HIEBRPCROTU VIR IEEHE (BMHEE ) AR) OETEFEAIMICEDL,
SET/h (BEMs) SFUKREEM F2T145, $F5315

EmRIVIITY N TIIE -
o= RARBYAX  340mmx550mm (ARL-MEHRE  FEE)
A EERE

AR WUE IS https://us.riso.com/

ORI RUMEBEICRI 2B ESR

B TERER A (%) BE
SuUs 1.5 1.99 kg
PIVIZUA 2.3 3.09 kg
A 0.5 0.68 kg
Z0fts 0.1 0.12 kg
Z0bE/E 2.2 2.87 kg
T5AFYD 24.4 32.21 kg
- AR 0.7 0.94 kg
SR A R EAR 7.1 9.42 kg
2] 48 6.35 kg
EEpiibii] 56.3 74.32 kg
DEMERESR A (%) B8
A 0.0 0.00 kg
Z0ft 34 1.02 kg
TIAF9Y 11.2 3.37 kg
- A 61.5 18.45 kg
E&R—)l 23.9 717 kg
gk 0.0 0.00 kg
OLEYHRRESHFE
IEH EHE (kg-0) &8 (kg-CO; eq)

HmdlUDEYHRKZERE - —
RETICDZSEEMOEYHERRRERE - -


https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/
https://us.riso.com/

Z$%ES) SUMPO-EPD-2602-11 SuMPO

JAPAN

VERIFIED

Environmental Product Declaration for ComColor FT1430E Il '. E P

OLCA BEEIFR
>EPDY1 /1&E$R
@17 B E-#5 O I -8 O =REH
EPDY1S  HA+I1S B BEYIH O #BHY H
FIRA & B SEE O MEFYE O RXE O _LBRfE
Hh IR A 6 B bk

BHEB/EBET
ZETEPDICHBITS -
REMEDRA
BHHB/EHT1MEED
EPDICE1%. HERBERD —
L TIRICBI T BEER

BEHHREPDOHA -

> LCARSEIE R
EEHEN 18
TEEMLEEYOES
mEAomERE)  102kd
HEHEIO- (BEEHEMEZHEILESD
(CHEREFH)
JATLIER ] Cradle-to Gate [ Cradle-to-Gate with options | I Cradle-to-Grave
LCAY I DI MiLCA Ver.3.1
LCIT=4I =2 AIST-IDEAV3.1
LTIV LIME2, S&EZE)IPCC2013 1005

ZOMBONYIISIIRT-5  —

—RTF-HEE GPICREDZRT - RBam:LET-92BWTEE 21Tk,

—RT-FINEM S EEEM_$2T135, F3T15

—RT-HUNEHAR 2024448 1H~2025%3 831

EYHBFExFEORYIELN B 0/0770-F O -1/+1770-F
B B EPHEOFINEENIVI O Z0ft

BHEHIC ]

Bd2E®R  BAH

RATTT
> BENRERRE
R R R E 2iE bt {55 R - HEFF Exi&(Eol)
| | | | |

B EENR - EENRSN



SuUMPO

EHREFS) SUMPO-EPD-2602-11 E P D
o

Environmental Product Declaration for ComColor FT1430EI =« Qo= E =t
VERIFIED

>7r0y-v3y

AEETE. GPICEHDOFIETCTOCAOM MBIV TO-T -3V ek ET Uz, AN AV OEETOTAICHE VTR
DOUTIV IR P E R ELTH RSN, TOTAOMAMECEZ 70T -3V EBAREE THY, BEXTOTANSHEHSE
N3ERBFRDBEMOUTY VI DR FMEREETHZH. WEETOT-V3VETO,

>hybA7

B8l [R=M ] [8&EM ] RUTHERIOEXETOCRIHRE &R

>YATLIRR

[(HRI1TU1 IV EBE]

HRBENRTHS, FEMHRERERRE., SLERE, MBKRE (@) | £/ HISRE. REEREGERLE)ZHR
Lz,

(R VAT LB ]
WROYATLERTERINIHARIE— KT -FINEENS100F £ LT,

>IFVA

(FBER RS . 55 - HERFERBE]
ENXFER, BHEE | PCRYFUAZRER
BKEERE - PCR. B YT UAZ(ER
[ ARERBE)
EXFER, EER, ket - PCRYFUAZER



EHREFS) SUMPO-EPD-2602-11

SuMPO

Environmental Product Declaration for ComColor FT1430E Il

>BHAETVVY

WUFOREY, F-9EBNTERET ok,
B LIS ERRE ¢ A

HEH, TAUNERE, IEA, 2015

ZOMOERRE : B, BAF1Y, 2018FEE

>317917)70-K

\ DEMHEAEER ‘ | ouERE ‘
@1
IEE0 B
S HE
@2
a8
HERORE

2R, TRE

[AE]

OfFF - BFERE

AR, EATEREROHE I

EitS, ZEREIEE

EENSOIA LA

EEOM S

BA+2ER

ERFLREE,
EETIEES

JAPAN

VERIFIED

..EPD

[ERL— k]

Fih EQEIR

(U*}'fﬁmi{%) ( EXEEY )
} l

‘ e, Ehluw ‘ | R, Eilnl ‘

GEER — ]




BHES) SUMPO-EPD-2602-110-1 SuMPO

Environmental Product Declaration for ComColor FT1430E | .. E p D

VERIFIED

OEEMRER
> 547940V & B R
AF  FEMBEE BE B ERE BK

SUEZEE) kg-COzeq 1.63E+03 | 9.76E+02 = 5.23E+01 1.09E+02 @ 3.66E+02 | 1.24E+02
VUL ¢ kg-CFC-11eq| 2.41E-04 2.11E-04 = 7.37E-06 = 8.82E-07 = 2.02E-05 = 1.16E-06
7414 kg-SO.eq 2.96E+00 1.06E+00 3.90E-02 & 3.06E-01 | 1.43E+00 1.21E-01
A TUEE kg-SO.eq 2.16E+00 7.91E-01 = 2.65E-02 | 1.28E-01 ' 1.15E+00 6.86E-02
FHALFEAFII VR kg-CoHseq 4.57E-02  3.71E-02 = 6.32E-04 | 6.62E-04 | 6.99E-03 = 3.56E-04
BEE(EWEFEIAME) kg-CsHeeq 1.55E+00 1.45E+00 = 7.95E-04 | 1.70E-02 = 5.92E-02 = 1.96E-02
BECFYEEMN) kg-CeHseq 3.13E-02 | 2.84E-02 = 1.67E-04 = 3.18E-04 = 2.34E-03 = 1.28E-04
KEERESM kg-CeHseq 6.98E+00 | 6.53E+00 5.94E-02 = 7.12E-03 = 3.68E-01 | 1.04E-02
BEEAREEN kg-CeHseq 1.25E+02 | 1.08E+02 | 1.44E+00 1.68E-01 & 1.54E+01 2.20E-01
ZREL kg-PO.*eq| 3.29E-01 = 7.86E-02 = 1.85E-06 = 2.94E-06 = 2.50E-01 & 3.70E-06

=+ HuF) A (HEH) m?%/%  1.11E+02 8.64E+01 1.52E-01  6.30E+00 | 1.67E+01 9.51E-01
T A B (BRE) m? | 8.22E-01 3.68E-01 | 4.19E-03 | 1.26E-01 = 3.04E-01 = 1.92E-02
BRHEE kg-Sbeq 1.11E-01 1.07E-01 & 3.06E-04 = 4.18E-04 | 3.38E-03 = 1.75E-04

>J1TY1 WA IRV M) SR BEER
FEmkliEE S ol ERGEE R’

EHERREE IR kg | 1.71E+02 | 4.05E-01 | 1.99E+00 6.92E+00  2.34E+00
FEFEREIRINF- kg ' 3.95E+02  1.87E+01 | 3.03E+01 1.72E+02 1.24E+01
FEFERBEIRIF- MJ | 1.59E+04  7.99E+02 1.35E+03  7.18E+03 5.46E+02

BARREEIR kg ' 2.10E+02 | 3.26E-02 | 1.67E-02 ' 2.36E+01 | 2.07E-02
BAEREEIRIF- MJ | 2.23E+03 | 1.94E+02 | 2.26E+01  9.71E+02 | 2.96E+01

RIKDHE m®  7.06E+01 | 4.70E-03 @ 6.26E-03 | 8.74E+00 6.67E-03
HEH, CO2(b REIRAR), AR, TNEE kg | 9.14E+02 | 5.03E+01 | 1.04E+02  3.46E+02 | 1.22E+02
&R, FUH, 44.7MJ/kg, FElS, FEBAERBEIRILY— kg | 1.62E+02 | 7.88E+00 | 2.84E+01  7.08E+01 | 1.04E+01
P, ERUEERAEY, KR, THE kg = 6.98E-05  2.61E-09 | 5.52E-10 @ 7.07E-07 | 6.97E-10

> BREYBREER
EMRRE e R ER-EE &R’
BEEZEY kg | 0.00E+00 0.00E+00 0.00E+00  0.00E+00 @ 0.00E+00
BERZEY kg | 3.51E+01 | 3.70E-03 | 1.43E-01  3.15E+00  9.88E+01
—iREEY BIY kg = 1.31E-04 = 1.41E-12 | 156E-12 @ 3.34E-07 2.26E-12
EXREEY B kg | 3.51E+01 | 3.70E-03 | 1.43E-01  3.15E+00  9.88E+01

KT INCBIBREMEERLTNET,

> HA70-[CRT BRIERER

FEMRIEE =S e ER-E &R

B A REL AR A kg = - - - -

U817V Rk kg - - - - -

IRIVF-EURAM kg - - - - -

BEEMNSOPEETRIE- " - - - ~ ~
(IRIF-[EINEHEE = 60%)

BEENOREL] EEMBHASE kg - - - - -

(IRIF-[ENEHZE <60%) BEURTIRILE- | M) - - - - -

FRVDEL EEMETMSE kg - - - - -

(FEZEYDIBRICEYHETS

EUAANSOTINE-ELY) | RIFVES M - - - - .



E#%HS) SUMPO-EPD-2602-110-1

Environmental Product Declaration for ComColor FT1430E I

>LCAEERZRICBIT 551

SuMPO

EP

JAPRPAN

VERIFIED

—ixiRE (READ) ZFALTNSRY. HRGEEMEFEOFHERBRLTVRVSENBYET, 207, JOFERGHEE

BEELTIF AL,

HERCRELZHmOEmEE - 4K

fER. MFFERFEOEEF X | PCROYFUAICE TS
-REEAEAE  5FFE

HEFNRIMEL ¢ 2,937,6001%

SEALEEBRIRNY-ZY-T095L0N-Y3Y 1 N\-IJ3V3.2
{EF. MR TOER BROERIEET ELTWE A,
CBNETEICAVWRYTUAICBWGEIRLEELG © =1EEEl

Q@ ENNIRIEEEIER
> LCAICBIELAVEIMDEEIER

>AEYEICET31ER

BEYMES CAS No.

ORENER

@& 3k

BAINSEEL IR FIDSER

+1SO14025:2006 Environmental labels and declarations — Type Il environmental declarations — Principles and

procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework

+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines



